MATH 290 - QUIZ #1 Name: &

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good
luck!
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(2 points) 2. Given that y =ce** +c,e™ is a solution to a first-order differential equation. Find

a solution to the corresponding initial-value problem given the initial condition of y(O) =3,

y'(0)==2.
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3. Given the differential equation e ¥y -8y+12.

(1 point) a. Determine all equilibrium solutions.
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(3 points) c. Determine the regions when the solutions are concave up or concave down.
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(2 points) d. Classify the equilibrium solutions as stable or unstable.
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